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QUESTION 1

What are two use cases for Internet of Things devices? (Choose two.)
A. Manufacturing Supply Chain

B. Predictive Maintenance

C. Asset Tracking

D. Financial Services Reconciliation

E. eCommerce Fulfillment

Correct Answer: AB

QUESTION 2
Which statement is true regarding serverless computing?
A. Users are charged a low hourly rate during idle time for the serverless computing service

B. Implementations differ across service providers, and capabilities vary, including supported runtimes, authentication,
scaling and monitoring

C. Serverless application are generally long-running (days or weeks) and stateful (maintain state or information across
requests)

D. Serverless is not well-suited for event processing or IOT

Correct Answer: C

QUESTION 3

On which open source project is OpenShift based?
A. Red Hat Linux

B. OKD

C. Kubernetes

D. Istio service mesh

Correct Answer: A

QUESTION 4

What is a benefit of Public Cloud?
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A. Offers the most significant economies of scale

B. Offers control of internal IT resources

C. Controls and automates deployments and updates

D. Offers controlled access and greater security measures customized to specific organizational needs

Correct Answer: A

QUESTION 5

Hyperledger fabric is the blockchain implementation used with which IBM Cloud service?
A. Hyperledger Platform

B. Distributed Ledger Platform

C. Blockchain Platform

D. Internet of Things Platform

Correct Answer: C
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